Quiz 10 Solutions

Sam Mansfield

1. There are two options when sending. The first option is to use the re-
ceiver’s public key to encrypt the message and then the receiver can use
their private key to decrypt the message. The other option is to use the
sender’s private key to encrypt the message and then use the sender’s pub-
lic key to decrypt the message.

Option 1: Alice's private key Option 1: Alice's public key
Option 2: Bob's public key Option 2: Bob's private key
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Option 2: Bob's public key Option 2: Bob's private key

2. Check out the following link for my answer: Password Strength.


http://xkcd.com/936/

